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And his mind is upon it — Y5 TN

OVERVIEW
X217 explains that the reason one is y»n 202 after the 7p°72 is out of concern that he
may find a 719> Xpo173 and 7M7Y 7°ny7. The X3 continues to ask that even if he
finds the 719> Xp0173, he could be %van it when he finds it (why is it necessary that
Sv2°w % p7an). There is a dispute between *"w2 and MooIN as to the meaning of
Y YT

*

— 1591959 1133 195N 503 X9 ‘w99
The interpretation of the phrase ™%V 7nyT' is that the 79> Xpov) is not
automatically nullified as crumbs are’.

mooIN negates "W interpretation:
— NPV MY NNOYN 35 7999 NN NYP DIVNPN YWITD b

And there is a difficulty with s'>''w9 interpretation; how can the X2 ask;3 ‘let

him nullify it when he finds it?’ -
55049 79y PAY NN NV ‘Y XN

For >"v1 explained '717%°¥ 57°np7Y' to mean that he is reluctant to nullify it. Since
he is 7"y on, then he will not be 7027 it.° How can the X3 ask, 775039 7% nrown *2'?!

SUMMARY

According to *"wn the meaning of 77%°y 7°nyT is that he is 7°%¥ omn; according to
mooIN it means that it is not 1987 Yva. The difficulty with *"w1D, is how the X3
can ask 17502, if he is 7>V on.

' The term w2 is used to indicate that the interpretation which follows is not the obvious one. The phrase Ny
"M%y would (seemingly) tend to indicate that there is a specific interest in the XpD123 (which is s""w" interpretation),
but not that it is not Y7&» P02 (as Moo interprets it). Nevertheless because of the difficulty inherent in >"w% (as
will be shortly explained), mpoin feels compelled to interpret it differently.
2 Therefore if he is not Svan, he will be 121 on *"21°"2. See ‘Thinking it over’ # 1.
? After the X m explains that the reason for 212 after 772 is because 7M2%Y NYT 79 RPOI2A R¥A* XAW; the X3
challenges this that there is no need for 2172 after 72°72, he can be 021 the X023 when he finds it.
1y 272,
%"y actually writes WY 5y om. What mooin (seemingly) means to say that since he is reluctant to burn it (for
it is a 79> XpO173), he will be equally reluctant to be 7027 it. See (TR7) R"wWAIN.
% According to mooIN that 72°Y Ny merely means that it is not 1"9%» v (but not that he has a specific interest in
this Xpo123), the question ‘71°9v2% 7°% Nnown °31 is understood (see “Thinking it over # 2). However according to >"w",
that we initially assume that he has an interest in the Xp0173 (and will not burn it), he will therefore also not be van
it.
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THINKING IT OVER
1. When the X703 states 7197 Xp012a X¥n° Xnw, does that mean he will be 72w on "2
>"21 from when he finds it or from the beginning of 1705?

2. According to Mmoo that he is not 9y on, why is it necessary to have 71022; let
him burn the y»n, whenever he finds it?!’

" See n'"vx.
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